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Sl. No.1
QBID:1007451

Identify the correct preposition to make a meaningful sentence.

Radha left Amsterdam two days .

(1) after (2) ago

(3) sinee (4) between
1) 1
(2) 2
(3) 3
4) 4

W, 9, ¥ w3t e ooft 1 e 27

(1) == (2) 399 T8
(3) #mEm (4) ==
(1) 1
(2) 2
(3) 3
4) 4

1[Option ID=42501]
2[Option ID=42502]
3[Option ID=42503]
4[Option ID=42504]

Sl. No.2
QBID:1007452

Identify the meaning of the underlined idiom from the options given.

After his mother's death. Raja was at a loss to know what to do.

(1) careful (2)  confused
(3) unable to decide (4) distracted
(1) 1
(2) 2
(3) 3

(4) 4




=11 % =y g=-11 =1 foem Fifao

-1 =i-1T
(A) »FF Fi T WA TR A s i A a () foem

(B) 7R feft ez § gm0 e e A A Femam (1) S

(C) wmIiEH Tegi § A= (IID) 3=
(D) TFHF H WONdE @9 § T (IV) =r=E-31

=9 7o mu foem ° 5 = T #1999 i
(1) (A)-(II). (B)-(IIL). (C)-(I). (D)-(IV)
(2) (A)-(IV). (B)-(IL). (C)-III). (D)-(I)
(3 (A)-(IIT). (B)-(I). (C)-(IV). (D)-(II)
i4) (A}-(I), (B)-(IV), (C)-«(II). (D)-(I1T)

(1)
(2)
(3)
(4)

A W N =

1[Option ID=42505]
2[Option ID=42506]
3[Option ID=42507]
4[Option ID=42508]

Sl. No.3
QBID:1007453

Choose the correct option to make a meaningful sentence.
Yesterday. I to buy clothes from the Spark Mall.
(1) go (2) are going
(3) gone (4) went

(1)
(2)
(3)
(4)

Frfafaa & =9 &1 w2 431 o T 2 7

A W N =

(1)  9vFg=® (2) @8

(3) ATSERE (4) =R
(1)
(2)

(3)
(4)

A W N =

1[Option ID=42509]
2[Option ID=42510]
3[Option ID=42511]
4[Option ID=42512]

Sl. No.4
QBID:1007454




Identify antonym for the underlined word in the sentence.

Rohan's heroic act saved many lives.
(1)
(3)

(1)
(2)
(3)
(4)

A W N =

miserly (2) quiet

chivalrous (4) coward

g=1-1% @9 g=i-11 #1 faem $ifaw

Tl-1 -1
(&) wfarA (I) ==d 7o
(B) TETEW Il) =z
(C) ==ums (IIT) ===t 714
(D) =EEr (IV) H95H F73%9
= f2u 0 e § ® B9 I 1 = e
(1) (A)-(IV), (B)-(I), (C)-(IID). (D)-(T)
(2) (A)-(T), (B)-(III). (C)-(IL), (D)-(IV)
(3 (A)-(IT). (B)-(I). (Cy-(IV). (D)-(I1IT)
(4) (A}-(IIT). (B)-(IV). (C)-(T}. (D)-(II)
(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=42513]
2[Option ID=42514]
3[Option ID=42515]
4[Option ID=42516]
Sl. No.5
QBID:1007455
Find correctly spelt word from the option given.
(1) Restorent (2) Tolerent
(3) Consistent (4) Excultent
(1) 1
(2) 2
(3) 3
(4) 4




FEAfrEd § ¥ %1 W 331 919F 99 77

(1) g%+ o foan 21 (2) T T 7 o wmm 2
(3) % T T Ira = | (4 TF 3 famre

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=42517]
2[Option ID=42518]
3[Option ID=42519]
4[Option ID=42520]

Sl. No.6
QBID:1007456

Identify the correct passive voice for the sentence given below :

The government has launched the Swachta Abhiyan Programme in India.

(1) The Swachta Abhiyan Programme is launched by the Government in India

(2) The Swachta Abhiyan Programme was launched by the Government in India

(3) The Swachta Abhiyan Programme has been launched by the Government in India
(4 The Swachta Abhiyan Programme had been launched by the Government in India

(1) 1
(2) 2
(3) 3
4) 4
ffatEs 5 ¥ wg 99 ==Y

(A) U T 3 oF fagan =1 ) A o
(B) T TreT FW FA|

(C)  deew fom1 771 e 37 2|

(D) T8 A9 FH F|

(E) i iia ° FE 7R 98 TSI T2 S
= Tau U foedl § 9 HE I A 99 i

(1)  =haet (A) #E (C) (2) a4 (B) 3 (D)
(%)  FA4 (C) 3 (D) (4) I (A) 37 (D)
(1) 1
(2) 2
(3) 3
4) 4

1[Option ID=42521]
2[Option ID=42522]
3[Option ID=42523]
4[Option ID=42524]

Sl. No.7




QBID:1007457
Identify the correct indirect speech for the sentence given below.

Rhea asked. “Did vou watch the movie in theatre last night?”

(1) Rhea asked me whether I saw the movie in theatre last night.
(2 Ehea asked me whether I had seen the movie in theatre last night.
(3) Rhea asked me whether I had seen the movie in theatre earlier night.
(4) Rhea asked me did I see the movie in theatre earlier night.

(1) 1

(2) 2

(3) 3

(4) 4

TETeEd = H—F'cl_:-Fﬂ T _'I"Tfl'f :

(A)  FHICTO Gram STeai 1 #0ET

(B)  ¥1TRR 9% 31 A4 ZE1 H A
(C) a1 o STt 2

(D)  sTeFRies St 3§ 2 T 9

(E) Higd 959 #d 2

9 f2u U faFeui 4 ¥ TE I F 999 HIAU
(1) (B). (E). (D). (A). (C)
(2) (D). (A). (C), (B). (E)
(3) (B). (E), (A), (D). (C)
(4) (D), (4), (E), (B), (C)

(1)
(2)
(3)
(4)

A W N =

1[Option ID=42525]
2[Option ID=42526]
3[Option ID=42527]
4[Option ID=42528]

Sl. No.8
QBID:1007458




Match List I with List IT

List-I (Word) List-II (Antonvm)
A Antique I Approval
B. Antipathy II. Charge
C. Absolve 1L Native
D. Alien IV. Vogue

Choose the correct answer from the option given below:

(1) ANIBIV.CIDII
(2) A IBIICIIID-IV
(3) A-ILB-III.C-IV.D-I
(4 AIVBICIDII
1) 1
(2) 2
(3) 3
(4) 4

g=1-1 % @y g=-11 1 faem Fifem

T=1-1 T=1-11
(A) rti’r:f.c_‘l EEICA- R O #=9™
(B) W=W § 724 a1 (II) =R
(C) 3% W =19 F a1 (III) eaea
D) TE@EA@EA (IV) wawd
= fu m e § O w1 =99 i
(1) (A)}-(IT). (B)-(TI1). (C)-(I). (D)-(IV)
(2) (A)-(T), (B)-(ID), (C)-(IV). (D)~(ILI)
(3) (A)-(IV). (B)-(I). (C)-(I1I), (D)-(1T)
(4) (A)-(TIL). (B)-(IV), (C)-(II). (D)-(I)
(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=42529]
2[Option ID=42530]
3[Option ID=42531]
4[Option ID=42532]
Sl. No.9
QBID:1007459
Choose the correct sentence.
(1) Let us get down for business. (2) Letus get down to business.
(3) Let us get down at business. (4) Let us get down over business.




(1)
(2)
(3)
(4)

A W N =

FEfeAfEd § o FEFETH] Seg Tgann

(A) =M

(B) AfaT

(Cy =9

(D) =

(E)y =

9 fou mu faei § O HE I 1 =999 Fifu

(1) =& (A), (B) # (C) (2) Fa4 (A). (C) 3R (E)
(3) A« (B). (C) 31 (D) (4) F=F4 (C). (D) = (E)
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=42533]
2[Option ID=42534]
3[Option ID=42535]
4[Option ID=42536]

Sl. No.10
QBID:1007460

Identify the part of speech of the underlined word in the following sentence.

Uneasy lies the head that wears a crown.

(1) Noun (2) Preposition
(3 Adjective (4) Verb

(1) 1

(2) 2

(3) 3

4) 4

FefafEd § 9 gere e

(A) W FFem

(B)  HiE1 7 T Te 7 =
(C) T mI=N

(D) TaEmEH g @ 9=
(E) = =i g7 31el aier

i fau o e § | HAR IUE I H AT AT

(1) %= (B) =77 (D) (2) =ad (E) 31 (D)
(3)  =had (C) 3 (B) (4) FI4 (A) F(C)
(1) 1

(2) 2




(3) 3
(4) 4

1[Option ID=42537]
2[Option ID=42538]
3[Option ID=42539]
4[Option ID=42540]

Sl. No.11
QBID:1007461

Who among the following enjoys the rank of a Cabinet Minister of the Indian Union?

(1) Deputy Chairman of the Planning Commission
(2) Deputy Chairman. Rajva Sabha
(3) Secretary to the Government of India
(4) Comptroller and Auditor General
(1) 1
(2) 2
(3) 3
(4) 4

feaffEr d o ydm oo d Fefefea da e e i m et ym B 27

(1) ==FT STEET F1 ST (2) =4 91 F IT-THMMA
(3) UG TFHR F G=Ea (4) 9RA T HTEF v gEEE WEE

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=42541]
2[Option ID=42542]

3[Option ID=42543]
4[Option ID=42544]

Sl. No.12
QBID:1007462

Which Indian State launched “Mukhyamantri Nibir Matsyachash Prakalpa™
(1) Assam (2y Kerala
(3) Tripura {4y Telangana

(1) 1
(2) 2
(3) 3
(4) 4

T ¥ FH-° 9RAE 57 A gt s geemm vwer i wwena fEn a e

(1)  3mm (2) =
(3) (4)  dermE

e

(1) 1




(2) 2
(3) 3
(4) 4
1[Option ID=42545]
2[Option ID=42546]

3[Option ID=42547]
4[Option ID=42548]

Sl. No.13
QBID:1007463

Government of which state has planned to conduct a programme ., under the banner of
Rashtriya Ashmita Manch' on April 23, the birth anniversary of freedom fighter Veer
Kunwar Singh who played a key role in the mutiny of 1857.

(1) Chattisgarh (2) DBihar
(3) Rajasthan (4) Uttar Pradesh

(1)
(2)
(3)
(4)

A W N =

9 799 WER 7 23 3 FI Eodal TAH IR Fa e TTEE 1857 # Hge § U meeaye qiue Fae
off, =1 Tt T A 99 F S T U I I h ara a4E 2

~

(1) o (2) ToER

(3  TIEE (4) I I

1)1
(2) 2
3) 3
4) 4
1[Option ID=42549]
2[Option ID=42550]

3[Option ID=42551]
4[Option ID=42552]

Sl. No.14
QBID:1007464

Which features of rocks undergo changes in the process of Metamorphism?
(A) Structure

(B) Texture

{C) Carbon Content

(D)  Actual chemical composition

Choose the correct answer from the options given below:

(1) (A). (B) and (D) only
(2) (A) and (B) only
(3) (A). (B) and (C) only
4 (B) and (C) only

(1) 1




(2) 2

3) 3
(4) 4

ETA0 T i | Aol i FE - fEearet § qftgdq e e v
(A) g =T

=

(B) == (ZFE=R)

(C)  EF Haaeg (Fee)

(D)  aw<fas® TEERS H
Fr= fou o fashedt @ mEE 3UgT IO B 99 i
(1)  #ae (A). (B) 31 (D)
(2)  FaEd (A) #R (B)
(3)  Fad (A). (B) 3R (C)
(4  FEd (B) 3R (O)
(1) 1
(2) 2

(3) 3
(4) 4

1[Option ID=42553]
2[Option ID=42554]
3[Option ID=42555]
4[Option ID=42556]

Sl. No.15
QBID:1007465

The headquarters of the Ghadar Party was located in which of the following city?
1) Karachi (2)  Lahore
(3) Montreal (4) San Francisco

1) 1

(2) 2

(3) 3

(4) 4

Freferfaa e s 9 e ot = geEee st @t

(1y == (2) <MER
(3)  Hitzm= (4) & FIGEEh
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=42557]
2[Option ID=42558]




3[Option ID=42559]
4[Option ID=42560]

Sl. No.16
QBID:1007466

Six friends — Amar, Bimal. Chandni. Deep. Eknath and Farid are sitting on a bench facing in
the same direction. Chandmi 1s sitting between Amar and Eknath. Deep 13 not at the end.
Bimal is sitting to the immediate right of Eknath. Farid 1s not at the right end. Who 1= to the
immediate right of Farid?

(1) Deep (2) Chandm
(3) Amar (4) Eknath
(1) 1
(2) 2
(3) 3
(4) 4

T: Toa — s, fame, =it 49, vy ok Wi vF 89 W v d o A gp Fe #4331 oE otk vy
% ot 7 A 421 2| A o anfatt fat w AE 21 uw g aed fane et 21 Wi At i w
T 21 FiE F o afed #A 27

(1) ©m (2) =E
(3) A (4) THATH

1)1
(2) 2
(3) 3
(4) 4
1[Option ID=42561]
2[Option ID=42562]

3[Option ID=42563]
4[Option ID=42564]

Sl. No.17
QBID:1007467

In a row of soldiers facing North. Lal Chand 1s 8% to the right of Khurshid: Mayank 1s 16%
from the left end: Lal Chand 1s 16t to the right of Jaikishan. who 1z 27% from the right end of
the row: Khurshid is nearer than Mavank to the right end of the row: there are 5 soldiers
between Mavank and Khurshid. How many soldiers are there between Jai Kishan and
Mayanalk?

(1) 3 @) 2
(3) 1 4) 4
(1) 1
(2) 2
3) 3

(4) 4




i o o s o o aiic F o sdwmw e, msad fma 164
WH W 2, A FARTH %+ GEd 169 TE W 3 ST Uit W aited B 8 279 = w2 g
T I gl Ui & alted % At e 3 @efls o 51w % o= 8 s a2 safeee o 5aw +
e # fope fom & 27

(1) 3 2y 2
(3) 1 (4) 4
1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=42565]
2[Option ID=42566]
3[Option ID=42567]
4[Option ID=42568]

Sl. No.18
QBID:1007468

A B.C. D and E, each are to be taught for one month duration from January to May one after
the other though not necessarily in the same order by lecturers P, Q. R. S and T. P teaches
course B but not in the month of April or May. @ teaches course ‘A’ in the month of March. R
teaches in the month of January but does not teach course 'C’ or T'. Which course is taught

by S?
(1) Either C or D ) A
(3 Either Dor E (40 B

(1)
(2)
(3)
(4)

A W N =

A B.C.D#RETH ¥ 3 UF = 5990 § 53 T% UH-UF F0h a6l 961 § TF 924 * fow s P Q. R,
S ¥R T g/ g FF1 8 W I8 36 FH § @ SEvEE A6 2l PHE B e # W e 91 58 W g8 8
T Q °E F HEH § wE A’ TgH 2| R T F WEH H Uee 2 o i C @ D’ TE gl S FH |

() C=D 2 A
(3) DTE 4 B

(1)
(2)
(3)
(4)

A W N =

1[Option ID=42569]
2[Option ID=42570]
3[Option ID=42571]
4[Option ID=42572]

Sl. No.19
QBID:1007469




Choose the set in which the third statement is a logical conclusion of the first two.

(I) Some Xs are Ps. Some Ps are Y=, Some Xs are Y=,

(I)  All Bangles are beautiful. Some beauties are crazy. Some Bangles are crazy.
(IIl) No belief is strong. Only strong have musecles. No belief has muscles.

(IV)  All orangutans are men. Some men are strong. Some orangutans are strong.

(1)  (III) only
(2) (I} and (IT) only
(3) (V) only

(4) (I) and (IV) only

(1)
(2)
3)
(4)

A W N =

.%_}

= el © © Y d0 TR TR 21 S9EA W 9 G99 e :

@D T9Xs.Ps?IF3Ps. Ys2I T3 Xs, Ys @l
D) oW GEal Ot 7| 9 Gaidl 56 | F9 qisal & 8

el s

() F55 FH9aE 99 T2 2| Fad FSehl =+ 9 2 919 U 2l 7| e d T F w5 ot

e fou o fEedt # | w9E ugE I W 9 il

(1) =« (1)
(2 == (D) #R 1D

(3) == (IV)
@  FFa D FRAV)

(1) 1
(2) 2
3) 3
4) 4
1[Option ID=42573]
2[Option ID=42574]

3[Option ID=42575]
4[Option ID=42576]

Sl. No.20
QBID:1007470




Which of the following arguments are formally correct?

(I) Some bikes are motorbikes. All motorbikes are scooters. Some bikes are scooters.
(IT) All children are students. No students are bad. No children are bad.

(III) No pencil is pen. Some pens are markers. Some pencils are markers.
(IV)  Everv man has a wife. All wives are devoted. No devoted has a husbhand.
(1) (IT) and (III) only

(2) (I) and (IV) only

(3) (I) and (II) only

(4) (I) and (III) only

(1) 1
(2) 2
(3) 3
(4) 4

Frfafias 4 @ =1 9 7 vt =9 9 o8 27

(D  T= o5 ARTETEF 2l 3| @i Aietenssh Thet w1 £ F3 S15F Thel B B
(II) @R sF= B &| HIE SE G T2 2| HIS =1 57 7 &)

(II1)  =i% UTeT U T8l 81 TS U 7 3| T Uf-ael A 2|

(IV) = 959 & UE UF 9ol | g ufcrr feae w2 o e 5 e afa 585 e
Ji= fou o oot 4 4 T Sug I W =55 Fi

(1)  <haet (IT) &7 (IID)
(2) A (D) =R (AV)
(3)  Faa (D R (1D
(4)  Fae (1) R (D)

1)1
(2) 2
(3) 3
(4) 4
1[Option ID=42577]
2[Option ID=42578]

3[Option ID=42579]
4[Option ID=42580]

Sl. No.21
QBID:1007471

The numbers of four digits can be formed with the digits 1. 2. 3. 4 and 5. where repetition of
digits 1z not allowed is

(1) 30 (2) 60

(3) 120 (4) 240




(1)1
(2) 2
(3) 3
(4) 4

FF 1. 2.3, 4TA 5 F WI 4 3R A o TEAT ST S0 TEGl &, O SHH § 3T il TR
(zrema) TEi fwar =)

(1) 30 (2) 60
(3) 120 (4) 240

1) 1
(2) 2
3) 3
4) 4
1[Option ID=42581]
2[Option ID=42582]

3[Option ID=42583]
4[Option ID=42584]

Sl. No.22
QBID:1007472

A and B travel from point P to Q. a distance of 42 km at 6 km/h and 8 km/h. respectively. B
reaches @ first and returns immediately and meets A at R. Then the distance from points P to
R 1s

(1) 32 km (2) 36km

(3 40 km (4) 46 km

1) 1
(2) 2
(3) 3
(4) 4

A ¥ Bwn: 6 foi/de1 wa 8 fadi/ae 1 =9 ° fag P o Q o% & oft9 42 fofi. 1 gfi 7 # 21 B
Q T T Ued UEHdl & 3R 9id 9199 wited @94 A ¥ R fag @ fowan 21 P9 R 9% & o= i gft F=
i ?

(1) 39 Tt (2) 36 T
(3) 40 Tt (4) 46 T

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=42585]
2[Option ID=42586]




3[Option ID=42587]
4[Option ID=42588]

Sl. No.23
QBID:1007473

If A purchases 10 oranges for . 25 and sells 9 oranges for %. 25, then gain percentage 1s

@ 121 @ 71
9 9

@ ol @ 1nl
9

(1)1
(2) 2
(3) 3
(4) 4

I A 10 I& =+ 25 ¥90 § @iedT & 3 98 O Ot i 25 T90 H a9 oa] &, 99 UIH Siawd oy S

wm?

(1) 12 2y 7=

(3) Q— 4y 11

1)1
(2) 2
3) 3
(4) 4
1[Option ID=42589]
2[Option ID=42590]

3[Option ID=42591]
4[Option ID=42592]

Sl. No.24
QBID:1007474

Two natural numbers are in the ratio of 3 : 5 and their product 1s 2160, then the smaller

number is

(1) —12 2y 12
(3) 36 (4) 60
1) 1
(2) 2
3) 3

(4) 4




Tl WISl G0 3 : 5% AU A & 3N I AR 2160 F9C 2| a9 F9d, Sid de i 7

(1) -12 2y 12
(3) 36 (4) 60
(1) 1
2) 2
3) 3
(4) 4

1[Option ID=42593]
2[Option ID=42594]
3[Option ID=42595]
4[Option ID=42596]

Sl. No.25
QBID:1007475
i 2 3 : : o a0
If —. — and — are given fraction. then largest fraction 1=s
12 3 8
m @ 3
12 8
- 2 ;

(3) r (4) All are equal
(1) 1
(2) 2
3) 3
(4) 4

., %m %hwmgmymwﬁn#m%f

i @ 3

12 8
; 2 "

(3) 3 (4) = A =)
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=42597]
2[Option ID=42598]
3[Option ID=42599]
4[Option ID=42600]

Sl. No.26
QBID:1049001




Who coined the term ‘Psychophysics™

(1) Gustav Fechner (2) Ernst Weher
(3) Hermann Von Helmholtz (4) Edward Titchener

(1) 1
(2) 2
3) 3
(4) 4

TR eg o fom a7

(1) &9 wFR (2) &= T
(3) A 919 eudices (4) u=zas feaw
(1) 1

2) 2

(3) 3

(4) 4

1[Option ID=43501]
2[Option ID=43502]
3[Option ID=43503]
4[Option ID=43504]

Sl. No.27
QBID:1049002

Which of the measures of variability ignores the signs before adding the deviations?

(1) Standard deviation (2) Quartile deviation

(3) Average deviation (4) Inter-quartile range

(1)1
(2) 2
(3) 3
(4) 4

Fererert =1 9 * @ vEel w9 @ feeEi & o fat S s w R e
(1)  wF feree (2) <gd= fa=em
(3)  oitEa fa=em (4) siR-=qde® faem

(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=43505]
2[Option ID=43506]

3[Option ID=43507]
4[Option ID=43508]

Sl. No.28
QBID:1049003




Match List I with List I1:

(A)
(B)
(€
(D)

List [
(Psychologist)
Ivan Pavlov
B.F. Skinner
Edward Tolman
Albert Bandura

List II

(Concept)
(I)  Latent learning
(IT) Classical conditioning
(IIT) Observational learning

(IV) Operant conditioning

Choose the correct answer from the options given below :

(1) (A)-(I1L), (B)-(IV), (C)-(I1), (D)-(T)
(2) (A)-(T), (B)-(IT), (C)-(IV), (D)-(ILL)
(3) (A)-(IT), (B)-(IV), (C)~(T), (D)-(11I)
(4) (A)-(IV), (B)-(I1I), (C)-(II), (D)-(I)
(1) 1
(2) 2
(3) 3
(4) 4
Tt 1 3R = 11 =1 faem fifsm)
-
(T )
(A) TEE Yaea
(B) #fus. feem
(C) Tu==s e
(D) ues w50
= feu mu foret 6 @ wE I ==w Hifa
(1) (A)-(ILT), (B)-(IV), (C)-(I1L), (D)-(L)
(2) (A)-(I). (B)-(IT), (C)-(IV), (D)-(ILI)
(3) (A)-(11), (B)-(IV), (C)-(D), (D)-(11I)
(4) (A)-(IV), (B)-(I1I), (C)~(II), (D)-(I)
1)1
(2) 2
(3) 3
(4) 4

1[Option ID=43509]
2[Option ID=43510]
3[Option ID=43511]
4[Option ID=43512]

-1

(e
() = Afam
(1) =enfae =
(IIT) Sreomens siferm

(IV) Toemsmege sigee

Sl. No.29

QBID:1049004




What 1s the spiral-shaped structure in the inner ear containing mechanoreceptors for
hearing?
(1) Cochlea (2) Oassicle
(3) Organ of corti (4)  Owval window
1) 1
(2) 2
3) 3
4) 4

= F1 H 98 Fvsfe T=q1 oy 290 & o wstEeenT Ui B 2, 39 99 Fad 27

(1)  =oiad (2) =AfTeEm

(3)  FE T (4) HAYSHN N
(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=43513]
2[Option ID=43514]
3[Option ID=43515]
4[Option ID=43516]

Sl. No.30
QBID:1049005

Given below are two statements :

Statement [ :  Token economy is based on the principles of insight
Statement II :  Biofeedback is a form of applied behaviour analysis and behaviour
modification

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both Statement I and Statement II are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement [ is correct but Statement II is incorrect
(4) Statement [ is incorrect but Statement IT is correct
(1) 1
(2) 2
(3) 3

(4) 4




g wm e d .

F1:

2 seTEe S fagm et 2

Fo 11:  Ha ufoyfe sigvge =aaen faversv ud sqagn |99 &1 &9 2|

39 A & e |, Jd G e fsedl § # ge| 39y I 6 96 i

-~~~
W
N
A W N =

(4)

Fo 1 3R 11 341 541 &
FoA 1 381 [1 541 7o &
F94 [ o8t 2, afea w99 11 7ea 2
w7 [ 71 &, dfeed %o 11 98 &

1[Option ID=43517]
2[Option ID=43518]
3[Option ID=43519]
4[Option ID=43520]

Sl. No.31

QBID:1049006

Which of the following are true for the positively skewed distribution?

(A)
(B)
(C)
(D)

It 1= skewed to the right.

Most of the cases pile up on the left hand side.
It 1s skewed to the left.

Most of the cases pile up on the right hand side.

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)
(1)
(2)

(3)
(4)

A W N =

(A) and (B) only
(A) and (D) only
(B) and (C) only
(C) and (D) only




garea faen e & fou fFafafas 4 9 =9-9 a9 o6 27
(A) ¥ 2 s frw g 2

(B)  vammt %4 (Case) w4l 301 $6¢s B4 &1

(C) =& a4 =i faww g 2

(D) =uERR F4 (Case) 3 3R 39S &1 2

A fau mu foret @ @ o I w1 =R Ffaw
(1) == (A) 5 (B)
(2) a4 (A) 3R (D)
(3)  %aa (B) 3R (C)

(1) = (0) (D)

1) 1
(2) 2
3) 3
4) 4
1[Option ID=43521]
2[Option ID=43522]

3[Option ID=43523]
4[Option ID=43524]

Sl. No.32
QBID:1049007

Given below are two statements :

Statement I : Value of product-moment correlation can be more than one (=1) in some
exceptional cases.

Statement II :  Even significant correlation does not tell us anything about causal
relationship between two variables.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement II are true

(2) Both Statement I and Statement II are false
(3) Statement I 1s true but Statement II 1s false
(4) Statement I 1s false but Statement II 1s true

(1) 1

(2) 2

(3) 3

(4) 4




feg s au .

F1: AU RS HeEad 1 ged ThEl SuEng aifafd 1, v | a8 s 2l

Fua Il =8 % % 9% Teaag Ff 21 =61 & 919 % FE00F 599 F1 T8 T497 79 2
STR FYF & AT °, J U U FEedl 0 | |@E 3w F 999 fie

(1) = [ [I2M o9 2

%)  wyq [ &R [I2F1 s9e 2

(3) Fug 1&g 2, wifed =9 11 35T 2
(4) = [ w2, ot & [T o 2
(1) 1
(2) 2
(3) 3

(4) 4

1[Option ID=43525]
2[Option ID=43526]
3[Option ID=43527]
4[Option ID=43528]

Sl. No.33
QBID:1049008

Name the philosopher who believed that some knowledge was inborn in humans

(A) John Locke

(B) Plato

(C) Reneé Descartes
(D) Franz Josef Gall

Choose the correct answer from the options given below :

(1) (A) and (B) only
(2) (B) and (C) only
(3) (C) only

(4) (C) and (D) only

1)1
(2) 2
(3) 3
(4) 4




30 i 1 AW w6 e w5 o1 5 e § 5 e e 2

(A) = @
B) @&
(C) 1 ¥we
(D) % wEE e
Hi= fou o fameai A | |l I T whifaw -
(1)  aa (A) 3 (B)
(2) #=a (B) 3R (0)
(3) @A (C)
(4) ¥4 (C) 3 (D)
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=43529]
2[Option ID=43530]
3[Option ID=43531]
4[Option ID=43532]

Sl. No.34

QBID:1049009

Which amongst the following is NOT true about learned helplessness?

(1)
(2)
(3)

(4)

(1) 1
(2) 2
(3) 3
(4) 4

Learned helplessness is marked by motivational, emotional and cognitive deficits
Depressed people often are in a state of learned helplessness

Individuals high on learned helplessness often set unrealistically high goals for
themselves

Martin Seligman pioneered the study of learned helplessness

ﬂﬁwﬁmm%aﬁﬁﬁn%ﬁaﬁﬁﬁaﬁq—mwﬁﬁ%?

(1)

(1)

1)1
(2) 2
(3) 3
(4) 4

sfepTa faaem S, WA 3R SRS A1 R il 2

IEE S . A EFeen i wyih 4w g

At fawm w3 =t s 9 o sEwafas 9 9 3= o feifa = 8
Tiféa afermm sfia fawma % =g % af )

1[Option ID=43533]




2[Option ID=43534]
3[Option ID=43535]
4[Option ID=43536]

Sl. No.35
QBID:1049010

Which of the following is NOT true about Client-Centred Therapy?

(1) Carl Rogers developed the Client-Centred Therapy

(2) The primary goal of Client-Centred Therapy is to promote the healthy psychological
growth of the individual

(3) The therapist creates an environment that allows a client to achieve self-enhancement
and self-actualization

(4) The bhasic therapeutic strategy is to remove and dispute the irrational feelings
experienced by the client

(1)
(2)
(3)
(4)

=Tt Hied 379N & 91 § Hefefiad 0 8§ $H-91 F299 991 98 27

A W N =

=

1) Tl TS A Sh—hlgd 3TN o1 TR )
F

(2)  FATH—Higd ITER 1 MAHF I5279 SATF 5 TaEY HHES [T F1 7260 =7 2

o

(3) Tafrcas w& A & i #2d 2 s =afs # dAa-3ig i area-fatg o a7

(4)  sanyq fafeemdm G, =hE g = 6 T8 T SEAIE F g AT SR Y JhY w4 2

(1)
(2)
(3)
(4)

A W N =

1[Option ID=43537]
2[Option ID=43538]
3[Option ID=43539]
4[Option ID=43540]

Sl. No.36
QBID:1049011

Given below are two statements :

Statement [ :  The primary goal of Client-Centred Therapy is to promote the healthy
psychological growth of an individual.

Statement I1 : The goal of psychoanalysis is strengthening of ego functions and to

promote insight into unconscious

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both Statement I and Statement Il are correct
(2) Both Statement | and Statement Il are incorrect
(3) Statement [ is correct but Statement II is incorrect

(4) Statement [ is incorrect but Statement I is correct




(1)1
(2) 2
(3) 3
(4) 4

=t 71w fam e E

w4 1: =ik shigd SU=R &1 WAHF 3279 ik & @Ey qERS fwm # aaEn 4 2
o I1:  WAITEYeIav 1 3299 STE—hal i Aot HA1 31T <0 & a1 § Sage der 2|

ITE FYA F I |, 9= By T 1§ @ 99 30w I 9w i

(1) = 13 [ 5F1 961 §
(2)  ="a 13k 1 2AT Tom
(3) %o 19d 8, Ak & [ 7Tea 2
(4)  FoA 17eW &, | woE [T 2

(1) 1
(2) 2
3) 3
4) 4
1[Option ID=43541]
2[Option ID=43542]

3[Option ID=43543]
4[Option ID=43544]

Sl. No.37

QBID:1049012
Who among the following has use Level I and Level II to distinguish between types of
Intelligence?

(1) Cattell (2) Spearman
(3) Thurstone (4) Jensen

1) 1
(2) 2
3) 3
(4) 4

fafafaa 7 @ &= 3fz = %2 9 F fou w1 (Level 1) @@ TR 1 (Level I1) =1 w5 e 27
(1) = (2) formdm

-

(3)  oded (1) S=EA

(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=43545]
2[Option ID=43546]

3[Option ID=43547]
4[Option ID=43548]




Sl. No.38

QBID:1049013

Which of the following is represented by The Greek alphabet ‘Rho™?

)

b

(
(
(3)
(4)

1) 1
(2) 2
3) 3
(4) 4

Pearson’s product moment correlation
Chi square in case of cells having very low frequencies
Chi square in case of cells having very high frequencies

Spearman’s rank order correlation

i a0l T 1 A Fefafea 7 9 e g % fag e e 27

(1)

(4)

1) 1
(2) 2
3) 3
4) 4
1[Option
2[Option

3[Option
4[Option

e &1 H-STgvl gEEay

FH A A T S et § wE -
wifers smfa aret vwmi i feufa § wd-at
o = wife-faig wewayg

ID=43549]
ID=43550]
ID=43551]
ID=43552]

Sl. No.39

QBID:1049014

What is the full form of SPSS?

(1)
(2)
(3)
(1)

(1) 1
(2) 2
(3) 3
(4) 4

Statistical Package for Social Sciences
Statistical Package for Social Scientists
Scientific Practice for Social Scientists

Scientific Practice in Soeial Sciences

SPSS %1 qui &9 #0187

(3)  wWIaH AWl 7 AHEF TR
(4) TR T &g Ae STEE




(2) 2
(3) 3
(4) 4
1[Option ID=43553]
2[Option ID=43554]

3[Option ID=43555]
4[Option ID=43556]

Sl. No.40
QBID:1049015

Which of the following correlations explains the maximum variance?

(1) +.80 (2)y +.7b
(3) —.90 (4) —-.85
(1)
(2)
3
(4)

Fr=fefign d o = geggy sifusmes yoo "qm 27

A W N =

(1) + .80 2y +.75

(3) —.90 (4) — .85

(1)
(2)
3
(4)

A W N =

1[Option ID=43557]
2[Option ID=43558]
3[Option ID=43559]
4[Option ID=43560]

Sl. No.41
QBID:1049016

(Given below are two statements :

Statement I :  As per the law of Parsimony, people prefer complex explanations of
a phenomena than simple explanations

Statement II : The law of parsimony involves the consideration of a wvariety of
explanations.

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement I 1s true but Statement II 1s false
(4) Statement I is false but Statement II is true

1) 1




(2) 2
(3) 3
(4) 4

Ja g wm R d :

w9 1:  onEWEE % IR % s, @ A sanen £ g § g i Afed e gE6g w6 d 8
FoA [1: ondiEHE & Fam § fafim w3 s w faam fem smn 21

I FUE F A 1, = 2 o faweai § 8 wd 3 w1 99 i

(1)  ®e 13 11591 9 8
(2) w1 1A @ 8
(3)  wua [ oo 2, oo @9 1 39 &
(4) FFAIzEaE, o o a8

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=43561]
2[Option ID=43562]

3[Option ID=43563]
4[Option ID=43564]

Sl. No.42
QBID:1049017

Match List I with Last IT:
List I (Phobia) List II (Situations)
(A)  Agoraphobia (I) Strangers
(B) Xenophobia (II) Entering public spaces
(C)  Acrophobia (ITIT) Fire
(D) Pyrophobia (IV) Heights

Choose the correct answer from the options given below :

(1) (A)-(ID), (B)-(D). (C)-(IV), (D)-(1D)
(2) (A)-(I), (B)-aD), (C)-(IV), (D)-(I1L)
(3) (A)-(III), (B)-(IV), (C)-(11), (D)-(D)
(4) (A)-(ID), (B)-(I1L), (C)-(D. (D)-(IV)

(1) 1
(2) 2
(3) 3
(4) 4




Tt [ &1 g 1 =1 fyes Sifs)

-1 711
(A) TEFEditE () == @

(B) @A (I) \TEHF T TS
(C) Igwmandifa (II1)

e

(D) foedifa (IV) =ga S

= fou U f9edt 9 @ T8 39 F1 599 e
(1) (A)-D), (B)-(), (C)-AV), (D)-(I1I)
(2) (A)-(I), (B)-(ID), (C)-(IV), (D)-(I1I)
(3) (A)-(III). (B)-(IV), (C)-(1I), (D)-(D)
(4)  (A)-II), (B)-(IID), (C)-(D), (D)-(IV)
(1)
(2)

(3)
(4)

A W N =

1[Option ID=43565]
2[Option ID=43566]
3[Option ID=43567]
4[Option ID=43568]

Sl. No.43
QBID:1049018

Who among the following did research to determine the smallest difference between two
weilghts that could be detected

(1) Fechner (2) Weber

(3) Wundt (4) Helmholtz
(1) 1
(2) 2
3) 3
(4) 4

frferfiaa @ & 78 gaEsTHe 1 21 959G F 97 & 9" 008 S H Te9 & O 9 o
(1) FFR (2) ==

(3 e (4) zHECES
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=43569]




2[Option ID=43570]
3[Option ID=43571]
4[Option ID=43572]

Sl. No.44
QBID:1049019

The appearance of the learned response again after extinction in a classical conditioning
experiment shows

(1) Spontaneous recovery (2) Stimulus generalization
(3) Stimulus diserimination (4) Higher order conditioning
1) 1

(2) 2

(3) 3

4) 4

Fenifeehl SEYA & W °, e * s sfrm sEfEn =1 oEemE %1 g B

(1)  %&@: g9 Sfawfa (2) IETE-AERIE

(3)  IgErE-fa (4) I A A

1) 1

(2) 2

(3) 3

4) 4

1[Option ID=43573]
2[Option ID=43574]
3[Option ID=43575]
4[Option ID=43576]

Sl. No.45
QBID:1049020

Given below are two statements : One is labelled as Assertion A and the other iz labelled as
Reason R.

Assertion (A) : Normal distribution curve, when plotted, never touches the x-axis

Reaszon (R) : The range of normal distribution is from - = (Infinity) to + = (Infinity)

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3 (A) is correct but (R) is not correct
(4) (A) is not correct but (R) iz correct
(1) 1
(2) 2
(3) 3

(4) 4




-

= 21 F9A fou w2 v H9FeA (Assertion (A)) % =7 ¥ fafga 2 @1 580 38% #F0 (Reason (R))
+® T

AR (A) T T T3 9 9 9 2, a1 et off X-s3e7 5 s 381 A 2
F1 (R) AT TIe0T o5 1 HiHT — oo (F4d) § + o0 (F4d) % 2l 2|

ST o & AT H, 9 BE T fFEed # § 599 39gT ST R 99 it

(1) (A &R (R)zF @@ 2 s (R), (A) 1 78 == 2
(2) (A @ (R)=H w1 2, @il (R), (A) i &8 =ame 96 2
(3)  (A)=El 2, afe (R) v %= 2
(4 (A =S 7E 2, af (R) o8 8
1) 1
(2) 2
(3) 3

(4) 4

1[Option ID=43577]
2[Option ID=43578]
3[Option ID=43579]
4[Option ID=43580]

Sl. No.46
QBID:1049021

What 1s that sensation when you feel that you, or the environment around you, are moving or
spinning when both are actually stationary?

(1) Extra locomotive perception (2) Coriolis effect

(3) Vertigo (4) Oculogyral illusion
(1) 1

(2) 2

(3) 3

(4) 4

T% TS 99 AIH HEg gl & 6 S, e sa EuE A fae A uw @ R, &t e
g | for g1 &, =1 =0 F50 &7

(1)  wifafes niesfter seaefiwon (2) =ifeEifem ww=
(3)  fa=wm (4) gl wm
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=43581]
2[Option ID=43582]




3[Option ID=43583]
4[Option ID=43584]

Sl. No.47
QBID:1049022

What is the full range of human sensitivity to pure tones?

(1) 30 Hz to 40,000 Hz (2) 20 Hzto 20,000 Hz
(3) 50 decibels to 50,000 decibels (4) 120 decibels to 200 decibels

(1) 1
(2) 2
(3) 3
(4) 4

qE | 3[E = (pure tones) = ?I';IE:R'ﬁFIT'lT £ 'Frﬂltﬁﬁ TH (range) 1 %_’?

(1) 30Hz¥ 40,000 Hz (2) 20 Hz¥d 20,000 Hz
(3) 50 decibels & 50,000 decibels (4) 120 decibels # 200 decibels

1)1
(2) 2
(3) 3
(4) 4
1[Option ID=43585]
2[Option ID=43586]

3[Option ID=43587]
4[Option ID=43588]

Sl. No.48
QBID:1049023

Given below are two statements : One is labelled as Assertion A and the other is labelled as
Reason R.

Assertion (A) : Avrousal refers to the level of activation

Reason (R) : Deep sleep and mania are on the extreme ends of the continuous of arousal

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) 15 true but (R) is false

(4) (A) 1s false but (R) is true

(1) 1
(2) 2
(3) 3
(4) 4




A= 71 o fau o # : v aIfieA (Assertion (A)) % w9 § fofaa & 9 750 399 FR9 (Reason (R))
FETH :

iR (A) IO FlshEeT & EGT i BT Al B

H (R) gl iz R I IewA i A % =W B W R

IIh HUA  AelH §, 44 Bu T el # | |@g 3o w1 99e hifau

(1)  (A) 3R (R) 3 g7 & 3 (R), (A) 1 =&l =amen

(2) (A SR (R)3F 74 &, A (R), (A) F1 78 =w=n 76 @

(3) (AT g, a9 (R) 393 8
(4)  (A) 3w T B, A (R) T3 2

(1)
(2)
(3)
(4)

A W N =

1[Option ID=43589]
2[Option ID=43590]
3[Option ID=43591]
4[Option ID=43592]

Sl. No.49
QBID:1049024

(Given below are two statements : One 1s labelled as Assertion A and the other i1s labelled as
Reason R.

Assertion (A) : Arousal refers to the level of activation

Reason (R) : Deep sleep and mania are on the extreme ends of the continuity of arousal

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) 13 true but (R) 1= falze
(4) (A) 1s false but (R) 1s true
(1) 1
(2) 2

(3) 3
(4) 4




TiedTEA =hi AT 31| Al §
(A) =T
(B) Um sl
(C) == et

(D) =HEEW Il Yad®

A fa o forret & & wdt 3w = Al
(1) F=ad (A) 3R (B)

(2) =@ (B) 3R (D)

(3) %= (B) 3 (C)

(1) F=E (A), (B) R (D)

1) 1
2) 2
(3) 3
(4) 4
1[Option ID=43593]
2[Option ID=43594]

3[Option ID=43595]
4[Option ID=43596]

Sl. No.50
QBID:1049025

(Given below are two statements :

Statement [ :  There are different types of long term memory

Statement [1 : Sensory memory and working memory are types of long term memory

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both Statement I and Statement II are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement [ is correct but Statement I is incorrect
(4) Statement [ is incorrect but Statement Il is correct
1) 1
(2) 2
3) 3

(4) 4




= = wuE feu o #

Faa 1

Areisiers: T & T WER &

wod I1:  wadt s o FrEwr wia dewfos s & v 8

I FYA F S A, A1 40 7m0 faweni # @ H9E IugE I F 994 A

~~
(O]
Nt
A W N =

(4)

o 1 3f 1131 =8 8
Fou7 [ 31 11 241 Ted 2
FuA [ T &, S Fo 11 7w 8
F97 [ 7Te4 7, ofee %o 11981 2

1[Option ID=43597]
2[Option ID=43598]
3[Option ID=43599]
4[Option ID=43600]

Sl. No.51

QBID:1049026

Match List I with List IT:

(A)
(B)
(©)

(D)

List I ListIT

Psychologist Concept

Atkinzon and Shiffiin (I)  Non sense syllables

George Sperling (I) Three system approach to memory
Hermann Ebbinghaus (ITII) Levels of processing

Craik and Lockhart (IV) Existence of sensory memory

Choose the correct answer from the options given helow :

(1)
(2)
(3)
(4)
1)
(2)
(3)
(4)

A W N =

(A)-(III), (B)-(I), (C)-(IV), (D)-(II)
(A)-( II), (B)-(IV), (C)-(I), (D)-~(III)
(A)-(IV), (B)-(I1), (C)-(II), (D)-(I)
(A)-(I), (B)-(ID). (C)-(III), (D)-(IV)




gt 1 s gt 11 1 faem $ifa)

-1 -1
HArAT e
(A) vefFEa va frsiE () =g 398w
(B) st wafet (I0) wfa % foo &= womed 3Tm
(C) & tfemEm (III) A & &
(D) %% Ud diFac (IV) wadt =i =1 sifeaea
e feu o faepeal o & @l 3mt &1 == Fifa

(1) (A)-(I1I), (B)-(1), (C)-(IV), (D)-(1I)
(2) (A)-(1I), (B)-(IV), (C)-(D), (D)-(I1L)
(3) (A)-(IV), (B)-(IID), (C)-(11), (D)-(D)
(4) (A)-(D), (B)-(ID), (C)-(I1I), (D)-(IV)

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=43601]
2[Option ID=43602]

3[Option ID=43603]
4[Option ID=43604]

Sl. No.52
QBID:1049027

Which part of the Central Nervous System controls endocrine functions by regulating
pituitary gland?

(1) Amygdala (2) Hippocampus
(3) Hypothalamus (4) Medulla

1)1
(2) 2
(3) 3
(4) 4

g Al o w1 W e a w ffEiE w e s w5 s e e e
(1) ﬂﬂﬂﬁﬁ (Amygdala) (2) =waHE (Hippocampus)
(3) HUTEE {(Hypothalamus) (4) W (Medulla)

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=43605]
2[Option ID=43606]

3[Option ID=43607]
4[Option ID=43608]

Sl. No.53
QBID:1049028




A deficiency of emotional responsiveness is called

(1) Othello error (2) Idiosyncratic error

(3 Alexithymia {4) Paralanguage

(1) 1
(2) 2
(3) 3
(4) 4

Y . = a1 = b S
HTHMTe 929 =l Ul F1 991 FEd & 7

(1) e @)
(3)  werEETfiTEE (4) T

(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=43609]
2[Option ID=43610]

3[Option ID=43611]
4[Option ID=43612]

Sl. No.54
QBID:1049029

A person striving for excellence and mastery in task, 13 high on which of the following needs?

(1) Need for affliation (2) Need for power
(3) Need for achievement (4) Need for approval
(1) 1

(2) 2

(3) 3

4) 4

4 # Iegpwar i Fguen & o s #a aren st feafafaa § @ g smeavgsam w = 27

(1)  dag %44 6 HEgashal (2) wifeh i HETEHD
(3)  Iuefey i AEvEEHaT (4) = F STETEE
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=43613]
2[Option ID=43614]
3[Option ID=43615]
4[Option ID=43616]

Sl. No.55
QBID:1049030




The schedule of reinforcement in which every correct response is reinforced is called

(1) Intermittent reinforcement schedule (2) Continuous reinforcement schedule

(3) Fixed ratio schedule (4) Variable ratio schedule

(1) 1
(2) 2
(3) 3
(4) 4

Tesh A1 S ATSd SR Ged gl 2, 99 e a1 a1 8, 36 YSed SIEE! Tl 99 Fad 87

(1) AT Tae S| (2) @ gaeH FIEE]

(3)  T=d S s (4) =7 FIE FEA

1) 1
(2) 2
(3) 3
4) 4
1[Option ID=43617]
2[Option ID=43618]

3[Option ID=43619]
4[Option ID=43620]

Sl. No.56
QBID:1049031

Which among the following is NOT a part of Wechsler Adult Intelligence Scale (WAIS)?

(1) Verbal Comprehension Index (2) Working Memory Index
(3) Processing Speed Index (4) Episodic Memory Index

(1) 1
(2) 2
(3) 3
(4) 4

Frferfigs & & #i Sven F9eh 9y Hiem & am T 87

(1)  wifve =g gass (2) wrw wfa gEww
(3)  HEEA T G (4) i T T

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=43621]
2[Option ID=43622]

3[Option ID=43623]
4[Option ID=43624]

Sl. No.57
QBID:1049032




(Given below are two statements : One is labelled as Assertion A and the other is lahelled as
Reason R.

Assertion (A):  Culture Fair Intelligence Test is a speed cum power test

Reason (R) : There i1s a time limit for each of the sub-tests included in the culture fair
Intelligence Test

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) 18 NOT the correct explanation of (A)
(3) {A) 1s correct but (R) is not correct

(4) {A) 1s not correct but (R) is correct

(1) 1
(2) 2
(3) 3
(4) 4

o = s

Ft= 21 Fee fEu T 2 ;v eifeed (Assertion (A)) % =9 ¥ fofga @ 91 550 35F FE0 (Reason (R))
FEIY :

At (A) T e Jhg Tiem wk it ve witw W 2|
F=7 (R) : TEapf e Sfg Wiem % yo ST-wiiam # TE - gt 2

ST FYT F AAF °, A9 750 T FFed § § T 399F 3T F 59T Hifen

(1) (A" R)FE &2 S0 (R), (A)F = = 2

(2) (AR (R) 3 &1 &, @A (R), (A) i F&1 =amen 78 2
(3) (A= 7, wfE (R) 7 7 2

(49 (A =& T 76 2, @ (R) 98 2

(1)
(2)
(3)
(4)

A W N =

1[Option ID=43625]
2[Option ID=43626]
3[Option ID=43627]
4[Option ID=43628]

Sl. No.58
QBID:1049033




Given below are two statements : One is labelled as Assertion A and the other is labelled as
Reaszon R.

Assertion (A):  The size of the action potential is unaffected by increases in the intensity of
stimulation beyond the threshold level

Reaszon (R) : All-or-none law states that all neurons must fire at the same time for the
impulse to be transmitted

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

1)1
(2) 2
3) 3
(4) 4

= =

F=r 77 Fu 2 U 2 v AfgEeE (Assertion (A)) * ®9 ¥ %ﬁaﬁﬁﬁ‘?@wﬁ #F10 (Reason (R))
FEIY

FAfReE (A) TS T T T IeHT i dedl d g | T eI 1 AR q9TtEd T8 g 2
%m0 (R) afi 71w T e T SEn, S = wEiE w1 % o aft =i w1 U T

=

I F9H F AEF U, A= 20 T FEea 0§ 981 39 61 99 Fis

(1) (A #r (R) 3F @ 2 &7 (R), (A) Fi = =mzn 2

(2) () &R (R)FE T E, 7 (R), A) F =@ = T 2
(3) (A @ 2, T (R) o797 2

(4) (A w&= 7@ &, «fa (R) &3 2

(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=43629]
2[Option ID=43630]
3[Option ID=43631]
4[Option ID=43632]

Sl. No.59
QBID:1049034




Given below are two statements : One 1s labelled as Assertion A and the other i1s labelled as
Reason R.

Assertion (A):  Freud's patients suffered from nervous disorders for which he and other
doctors could no find any physical cause.

Reason (R) : Freud proposed that there is an unconscious mind into which we push. or
repress, all of our threatening urges and desires. These repressed urges, in
trying to surface, created the nervous disorders in his patients.

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)
(3) (A) 1s correct but (R) 1s not correct
(4) (A) 18 not correct but (R) 1s correct
(1) 1
(2) 2

(3) 3
(4) 4

= 21 wom 5w T 2 : v wiPTEEA (Assertion (A)) * ¥4 # fofaa & @1 790 3595 F991 (Reason (R))

%Wﬁ:

#HfReE (A) : WEE % U b fowr | difza 9 foas weE i o= fafecas +E Hifas s
el gE Tl

FA (R) - WIS A TEaTEa fehar o1 T W A1 WTEeRE WE W SesHl % {ud sTHad 79 H
ZHA WA &1 981 gMA ST, e Ul H AW w1 YATE SAd @94 Uil HoarEee
forrr 3093 = £

IT F9F & e |, = G e o § ¥ 99m 39w 3w 99 fifeg

(1) (A) 3R (R) 31 @& & 3R (R), (A) 1 =t =men 2

(2)  (A) ¥R (R) T =€ E, AR (R), (A) Fi @ = 1 2
(3) (M) 2, ofF (R) &él 7 &

(1) (A FE T g, a9 R) 2

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=43633]
2[Option ID=43634]

3[Option ID=43635]
4[Option ID=43636]

Sl. No.60
QBID:1049035




Given below are two statements : One is labelled as Assertion A and the other is labelled as
Reason R.

Assertion (A):  Adoption studies have demonstrated that schizophrenia is not influenced
by genetic factors

Reason (R) : Environmental conditions give rise to schizophrenic disorders

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are true and (R} is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3 (A) is true but (R) is false

(4) (A) is false but (R) is true

(1)
(2)
(3)
(4)

A W N =

it 71 Fe fqu 0 2« v aifuA (Assertion (A)) % w1 # fafa # a1 g80 39% FE01 (Reason (R))
%F‘Jﬁ:

sAtHFEA (A) : Tz, &4 & AeFFd giid & R Aifafeear W Tt wel & e A4 9 2
F1 (R) : e gifeafET st e = = & 8

ITE F99 F A 1, 99 By G 4 8 g8 s o = Fifsn

(1) (&) 3R (R) 3F1 51 & & (R), (A) it =t =men 2

(2) (&) 3R (R) 3H &0 8, AR (R), (A) Fi w& =men 76 2
(3) (A)F= g, ofF R) 56E 2

(4)  (A) s\ T 8, AfF (R) 93 2

-~~~
(O]
Nt
A W N =

(4)

1[Option ID=43637]
2[Option ID=43638]
3[Option ID=43639]
4[Option ID=43640]

Sl. No.61
QBID:1049036




Match List I with List II:

List I List 1T
Psychologist Concept
(A) Spearman (I} Tetrad equation
(B) Jensen (II) Second order
(C) Sternberg (III) Triarchy
(D) Cattell (IV) Regression argument

Choose the correct answer from the options given below :

(1)  (A)-aD, (B)-(IID), (C)-(IV), (D)-()
(2 (AD), (B)-(II), (C)-(1D), (D)-(IV)
3 (A0, (B)-IV), (C)-(IID), (D)-(1T)
4)  (A)-aD, (B)-(IV), (C)-(I1I), (D)-(I)

(1) 1
(2) 2
(3) 3
(4) 4
gt 1 s gt 11 *1 faem Fif)
T -1
LEICRIEED A
(A) foEa (I) =g "
(B) S (In fzdm goft
(C) w=s=mt (1) fa=mdt
(D) e (IV) TEPEm 7
= fou o fawedl ® & w81 3w =1 =99 $ifsu

(1) (A)-(ID), (B)-(I1D), (C)-(IV), (D)-(D)
(2) (A)-(I), (B)-(ILI), (C)-(ID), (D)-(IV)
(3) (A)-(I), (B)-(OV), (C)-(IID), (D)-(IL)
(4) (A)-(ID), (B)-(IV). (C)-(I1I), (D)-(T)

1) 1
(2) 2
3) 3
4) 4
1[Option ID=43641]
2[Option ID=43642]

3[Option ID=43643]
4[Option ID=43644]

Sl. No.62
QBID:1049037




The tendency to remember uncompleted tasks better than completed ones is called

(1) Anterograde amnesia (2) Tip of the tongue phenomenon
(3) Retrograde amnesia (4) Zeigarnik effect

(1) 1
(2) 2
(3) 3
(4) 4

(1)  sAamare mid @ (2) ToEaw gz
(3)  ATTETAY Wiqw (4) <mfEE gum=
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=43645]
2[Option ID=43646]
3[Option ID=43647]
4[Option ID=43648]

Sl. No.63
QBID:1049038

For a swimmer, the information on ‘how to swim’ is stored in which of the following
memories?

(1) Procedural (2) Episodic
(3) Semantic (4) Declarative

(1) 1
(2) 2
(3) 3
(4) 4

w e i frm g 4 G ¥ g o w27

(1)  =dEEf (2) ==
(3) = v (4) T

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=43649]
2[Option ID=43650]

3[Option ID=43651]
4[Option ID=43652]

Sl. No.64
QBID:1049039




The memories of our childhood would form a part of which of the following memory?

(D Short term memory (2) Sensory memory
(3) Autobiographical memory (4) Working memory

(1) 1
(2) 2
(3) 3
(4) 4

TR w9 i WAl frefetaa § 9 fra wfa w1 9o a9

(1)  sTeTtos S (2) wwEfEE s
(3)  SHEUIHS T (4) =R T

1)1
(2) 2
(3) 3
(4) 4
1[Option ID=43653]
2[Option ID=43654]

3[Option ID=43655]
4[Option ID=43656]

Sl. No.65
QBID:1049040

Who among the following are Indian Psychologists?

(A) Girindra Sekhar Bose
(B) S.M. Mohsin

(C) C.M. Bhatia

(D) D.D. Kosambi

(E)  Yogendra Singh

Choose the correct answer from the options given below :

(1) (A), (B) and (E) only
(2) (B), (C) and (E) only
(3) (B), (C) and (D) only
(4) (A), (B) and (C) only
(1) 1
(2) 2

(3) 3
(4) 4




fAfeigs O & 9 9 A garasT—E & 7
(A)  Triz T =

(B)  uH.th. HiEhEA

(C} ﬂ".ﬂ.] T "3 a1 .:E

00) = = i = 1

(E) =r=< faz

Fr o T e B § Tes 39T 30T o =99 e

(1) == (A), (B) ¥l (E)
(2) %=« (B). (C) &1 (E)
(3)  =aa (B). (C) & (D)
(4) == (A), (B) @iz (C)

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=43657]
2[Option ID=43658]

3[Option ID=43659]
4[Option ID=43660]

Sl. No.66
QBID:1049041




Match List I with Last II:

(4)

(B)

(€)

(D)

ListI
Theory of Emotion

Cannon-Bard Approach (T)

Schacter-Singer Approach (1)

List IT
Description

Awareness of bodily response to a situation leads
to experience an emotion

An opposite reaction automatically follows an
emotional response

James-Lange Approach (IIT) Felt emotional states are determined partly by
the cognitive labelling of feelings of arousal

Opponent-Process (IV) Information about a stimulus producing emotion

Approach goes to the thalamus which relays to the cortex

and internal organs causing emotional awareness
and bodily changes at the same time

Choose the correct answer from the options given below :

(1) (A)-(I). (B)-(ID), (C)-(IV), (D)~(I1I)
(2) (A)-(IV), (B)-(I), (C)-(ILI). (D)-(1I)
(3) (A)-(IV), (B)-(I1I), (C)-(I), (D)-(II)
(4) (A)-(D). (B)-(III), (C)-(IV). (D)-(II)
(1) 1
(2) 2
(3) 3
(4) 4
Tt 1 3R Tt 11 =1 faem Fifa
-1 11
am % fagmE T
(A FH-T1E IH (Iy et oftfeafa @ wiifes ofEdal = goraw, gan 300 =0 2
(B) dae-fEm 3w (I s fauia wfafen w=afaa v & samors wfafen &1 sgEm
FT 2
(C) - 39T (II1) weg@ &1 7 v feafa sifis &9 ® 6o & 9 &
TAATE aaten gr1 Fgifa $ e 2
(D) Frfi-sfFm 3w (IV) T97 3099 & 99 IE9F & 91 3§ oA So9g a9 el & 9 39
Fiean I A 3 7 vga @ frew o & aw A weEi
ANTEFAT g i fiEd g 2
= feu o fowreat § 9 o I = = il
(1) (A)-(), (B)-(II), (C)-(IV), (D)-(1II)
(2) (A)-(IV), (B)-(I), (C)-(I1I), (D)-(IT)
(3) (A)-(IV), (B)-(III), (C)-(I), (I-(IT)
(4) (A)-(L), (B)-(IID), (C)-(IV). (D)-(ID)
(1) 1
(2) 2
(3) 3

(4) 4




1[Option ID=43661]
2[Option ID=43662]
3[Option ID=43663]
4[Option ID=43664]

Sl. No.67
QBID:1049042

Who has proposed that Intelligence has three dimensions?

(1) Sternberg (2)  Guilford
(3) Titchner (4) Binet

(1) 1
(2) 2
(3) 3
(4) 4

g & i omam & - ag fFad weafaa 27

(1) &= (2 e
3y fe=m (4) fm=

1)1
(2) 2
(3) 3
4) 4
1[Option ID=43665]
2[Option ID=43666]

3[Option ID=43667]
4[Option ID=43668]

Sl. No.68
QBID:1049043

Which of the following is NOT the contribution of Albert Bandura?

(1) Observational learning

(2) Bobo Doll experiment

(3) Social Cognitive Approach to learning
(4) Premack Principle

(1) 1
(2) 2
(3) 3
(4) 4

frafefem & & FH-m vead Sg0 F1 JmgE 96 27

(1)  Seomes sfam (2) i g wEm
(3)  wiftrm =1 aWfEE-FETeRE 39T (4) = fagE
(1) 1
(2) 2
(3) 3

(4) 4




1[Option ID=43669]
2[Option ID=43670]
3[Option ID=43671]
4[Option ID=43672]

Sl. No.69
QBID:1049044

Broca's arc 1s located 1in which of the lobes of the brain?

(1) Temporal lobe (2) Frontal lobe
(3) Occipital lobe (4) Parietal lobe

(1) 1
(2) 2
(3) 3
(4) 4

st =9 (Broca’ arc) HiasF o T8 @2 o 39t 2t 27

(1) @ @s (Fona fus) (2) <R TS (Wiee vs)

(3)  OvEETA WS (AR fvs) (4) TEEFREIAF @2 (Fuea fuug)
1) 1

) 2

3) 3

4) 4

1[Option ID=43673]
2[Option ID=43674]
3[Option ID=43675]
4[Option ID=43676]

Sl. No.70
QBID:1049045

Which among the following is NOT a component of self experience by William James?

(A) Material me
(B) Intelligent me
(C) Social me

(D Selfish me
(E) Spiritual me

Choose the correct answer from the options given below :

(1) (A) only

(2) (B) and (D) only

(3) (B). (C) and (D) only
(1) (A), (B) and (E) only

(1) 1
(2) 2
(3) 3
(4) 4




fretferfiaa © & =i & fAferm S0 F Ao -Sg9T F1 qcd T8 87

(A) wifas &
(B) afgamd
(C)  =mrrss

(D) Tt A

(E)  sArarfems §

A T2 T fSeRe # H HE I T i
() == ()

(2) %=« (B) @R (D)

(3)  =ae (B), (C) & (D)

(4) =T (A), (B) #w (E)

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=43677]
2[Option ID=43678]

3[Option ID=43679]
4[Option ID=43680]

Sl. No.71
QBID:1049046

Given below are two statements : One is labelled as Assertion A and the other is labelled as
Reason R.

Assertion (A):  Social factors are important in shaping the personality.

Reason (R) : Horney believed that poor relations with parents lead children to develop

maladaptive ways of dealing with relationships.

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)

(3) {A) 18 correct but (R) 1s not correct
(4) {A) 18 not correct but (R) 1s correct
(1) 1
(2) 2
(3) 3

(4) 4




#r 21 o fqu U & ;v sAfueyA (Assertion (A)) % ®9 W forfiga @ @t g9 389% FR0 (Reason (R))

FETH :

AT (A) =fthed & T § AEITAE I A gl

F1 (R) - T 1 A=A o1 T Ao % wn wwe w@eg = | fed @ fee & sfege o
=i Tt # % fou sme = £

I FOH F T |, A 7 e el § § HeE 39w I 99 i

(1) (A) 3R (R) 2 @& & 3 (R), (A) 1 =e =men 2

(2) (A & (R) FH @ E, TR (R), (A) Fi w6 =men 74 2

(3) (A= 7, = (R) 78 76 2
(4) (AT 3 7 7, o (R) 98 @

~~
(5]
Nt
A W N =

(4)

1[Option ID=43681]
2[Option ID=43682]
3[Option ID=43683]
4[Option ID=43684]

SlI. No.72
QBID:1049047

Which of the following terms is used to explain the identification of behaviours to the specific
brain areas in which they are carried out?
(1) Localization (2) Hemispheric Lateralisation

(3) Brain Plasticity (4) Neural Specification

(1)
(2)
3)
(4)

A W N =

frefafan 4 @ g s= = vam Tty afess &9 & =59e =i g9 8 T 9 8 98 9 98 g=ried
Fa 87

(1) feafa-fufo (2) TiETZ ureETE

(3)  wiEss wnfefad (4) dfE Tt

(1)
(2)
(3)
(4)

A W N =

1[Option ID=43685]
2[Option ID=43686]
3[Option ID=43687]
4[Option ID=43688]

Sl. No.73
QBID:1049048




Which of the following is NOT an archetype?

(1) Anima (2) Shadow
(3) Animus (4) Womb envy
(1) 1
(2) 2
(3) 3
(4) 4
frafafaa § & FH-w sTENET 76 87
(1) st (2) B
(3) waW (1) T g=
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=43689]
2[Option ID=43690]
3[Option ID=43691]
4[Option ID=43692]
Sl. No.74
QBID:1049049
Who among the following is NOT a neo- freudian?
(1) Allport (2) FErickson
(3) Sullivan (4) Horney
(1) 1
(2) 2
(3) 3
(4) 4
Frafefias # & F9-T1 99 Higsaw A5 87
(1) 7o (2) Ul
(3) aferEm (4) =i
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=43693]
2[Option ID=43694]
3[Option ID=43695]
4[Option ID=43696]

Sl. No.75
QBID:1049050




Which of the following physical changes occur in girls during puberty?

A) Development of breasts

C

D)  Body contours become rounded

e

(

(B) Pubic hair appears
( Larynx enlarges

(

Choose the correct answer from the options given below :

(1) (A) only

(2)  (A). (B) and (C) only
(3)  (B).(C) and (D) only
(4) (A), (B) and (D) only

Fiferiatl # diaanw & o Pt § 3 F9-9 Wifs ofiads 84 27
(A)  T= w1 fawm

(B)y == H =R S

(C) T 97 =1 5 &

(Dy =il <l wiE e g8

= fou o e F A HEl I = A
(1) a4 (A)

(2) = (A), (B) 3R (C)

(3) %= (B), (C) 3R (D)

(4) %= (A), (B) i (D)

1)1
(2) 2
(3) 3
(4) 4
1[Option ID=43697]
2[Option ID=43698]

3[Option ID=43699]
4[Option ID=43700]

Sl. No.76
QBID:1049051

Who among the following theorists proposed that knowledge is socially constructed by the
child and others within the culture?

(1) Jean Piaget (2) Lev Vygotsky
(3) Erik Erikson (4) Sigmund Freud
1) 1

(2) 2




(3) 3
(4) 4

T U FF AR g W F FE AT 9 H WEER & @ gl 8l 59 F99 H Aaed e
O § form garasi=e 3 R an?

(1) <= fEs (2) <= FmeEh
(3) Ui URwEA (4) Trmvs woE
(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=43701]
2[Option ID=43702]
3[Option ID=43703]
4[Option ID=43704]

Sl. No.77
QBID:1049052

Match List I with List II:
List [ List IT
Type of reliability Conditions
(A) Split half (I}’ Omne testing session and one form
(B) Alternate form (immediate) (I} Ome testing session and two forms
(C) Alternate form (delayed) (IIT) Two testing sessions and one form
(D) Test-retest (IV) Two testing sessions and two forms

Choose the correct answer from the options given below :

(1) (A)-(I), (B)-(ID), (C)-(IV), (D)-(I1I)
(2) (A)-(D), (B)-(ID), (C)-(I11), (D)-(IV)
(3) (A)-(1T), (B)-(D), (C)-(I11), (D)-(IV)
(1) (A)-(ID), (B)-(D), (C)-(IV), (D)-(11L)




Tt 1 3R gt 11 =1 faem $Fifs

g1 gI-11

favaertam % T
(A)  faverd (D o vl @ vl U Y
(B) UGt y9A (dreshiiere) (I) weh wiieqor &= U 5199
(C) w99 (feretferm) (II1) 2 wii=or @9 v o 99
(D) wEoI-g: wiE (IV) 71 witeqw ¥ U@ &1 9=

= fEn mu feei 9 @ o I %= == fif
(1) (A)-(D), (B)-(ID), (C)-(IV), (D)-(11T)
(2) (A)-(T), (B)-(IT), (C)-(III), (D)-(IV)
(3) (A)-(ID), (B)-(I), (C)-(III). (D)-(IV)
(4) (A)-(IT), (B)-(D), (C)-(IV), (D)-(11T)

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=43705]
2[Option ID=43706]

3[Option ID=43707]
4[Option ID=43708]

Sl. No.78
QBID:1049053

What is the correposnding Z-score to 50t percentile?

(1) 50 (2) 0 (Zero)
(3) 1 (4) 100

1) 1
(2) 2
(3) 3
(4) 4

50 df s (50t percentile) F THIET Z-FhHT FT1 87

(1) 50 (2 0(¥I=)
3 1 (4) 100

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=43709]
2[Option ID=43710]

3[Option ID=43711]
4[Option ID=43712]




Sl. No.79
QBID:1049054

Which among the following 15 NOT the component of Big Five Factor Model of personality?

(1) Conscientiousness (2) Neuroticism
(3) Openness (4) Conservatism
(1) 1

(2) 2

(3) 3

(4) 4

fefafaa @ & #9 1 =t 983 779 FEF 9T H w5 27

(1)  <hdeaimE (2) wAIE g
(3) EEIRE (4) =fzame
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=43713]
2[Option ID=43714]
3[Option ID=43715]
4[Option ID=43716]

Sl. No.80
QBID:1049055

Spearman-Brown formula explains which of the following?

(1) Relationship between reliability and validity

(2) Internal consistency Reliahility

(3) Item - Total correlations

(4) Relationship between reliability and length of the test
1) 1
(2) 2

3) 3
(4) 4

L [ S o i Nl ~ A .
o -31sa =1 g3 fyafcifga 0 & el = #ar 27

(1) TagaEgar ug dudar O gy (2) ST wtg fayaediad

(3)  HAEH-ZEd geEmy (4) TavaaSEar 3 yom Fi o ° =y
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=43717]
2[Option ID=43718]




3[Option ID=43719]
4[Option ID=43720]

Sl. No.81
QBID:1049056

Which of the following is an example of a primary reinforcer?

(A) Food
(B) Money
(C) Water
(I Token

Choose the correct answer from the options given below :

(1 (A) only

(2) (A) and (B) only

(3) (A) and (C) only

(4 (A), (C) and (D) only

(1)
(2)
(3)
(4)

Freferfign o & % &1 gl gadiem % g 8 7

A W N =

.

(A) CIER

(B) =

(Cy ==

(D) Wt ()

d feu mu et A T HEl I F A A
(1)  F=a (A)

(2)  #AF (A) 3R (B)

(3) %= (A) 3 (C)

(4)  F=E (A), (C) 3R (D)

-~~~
W
Nt
A W N =

(4)

1[Option ID=43721]
2[Option ID=43722]
3[Option ID=43723]
4[Option ID=43724]

Sl. No.82
QBID:1049057




Which of the following are the functions of Sympathetic Nervous system?

(A) Heart beat acclerates
(B) Digestion slows

(C)  Pupils widen

(D) Lungs constrict

Choose the correct answer from the options given below :

(1) (A) and (B) only
(2) (A) and (C) only
(3)  (A), (B) and (C)
(4) (B). (C) and (D) only

1)1
(2) 2
3) 3
(4) 4

frfeifad @ | ®iH ¥ F AT G5 7 F o7
(A) =27 T =1 T

(B) 9= T =i 71fa F:7 2

(C)  gaeit = =T &

(D)  wEES H TFEA

= fZu U Toehedl 0 | T S9g ST 1 =9 e

(1) ==« (A) &1 (B)
(2) a4 (A) #1(0)
(3) = (A), (B) #r (C)
(4) == (B), (C) & (D)

1)1
(2) 2
(3) 3
(4) 4
1[Option ID=43725]
2[Option ID=43726]

3[Option ID=43727]
4[Option ID=43728]

Sl. No.83
QBID:1049058




Match List I with List II:

List I

Techniques to study brains

List IT
Application

{A) Magnetic Resonance Imaging (I)  Uses magnetic fields radio waves and
blood flow to detect areas of activity
within gpecific brain structures

(B) Functional Magnetic Resonance (II) Uses magnetic fields and radio waves to

Imaging create detailed brain images

(C) Computerised Axial Tomography (III) Involves the injection of radio active
material to create dynamic brain images

(D) Positron Emission Tomography (IV) Uses X-rays to create static three

dimensional images of the brain

Choose the correct answer from the options given helow :

(1) (A)-(D), (By-(IL), (C)-(11I), (D)-(IV)
(2) (A)-(IT), (B)-(D), (C)-(IV), (D)-(I1I)
(3) (A)-(T), (B)-(ID), (C)-(IV), (D)-(I1T)
(4) (A)-(11), (B)-(I), (C)-(I1I), (D)-(IV)
(1) 1
(2) 2
(3) 3
4) 4
gt 1 st g=t 11 =1 faem fifso)
-1
wfeass & A Hl aFAE

(A) F=FE AR v

(B) i FhE AT Nt
(C) =i el Zmmrh

(D) wifseia Iegea ZMmd

1T

.

I

fafse afeass s 4 nialata S &9 % 99 e

% fore grahia &, e 701 @ ™  waw # s

Fd £

(1) =fers= =1 wfafas =99 & fou gadm &3 a e
I =1 TG A B

(1) wfers & wfosiear wfafaa @90 & o ifea ofFea
gt & oA 1 TG B Bl

(IV) wfes= & fer f-wmEd gl = 9+ fog
X-Forort =1 v e 2

@

o fow o ferped & © Wl 3T 1 = il
(1) (A)-(D, (B)-(ID), (C)-(11D), (D)-(IV)
2y  (A)-ID, (B)-(D, (O)-(IV), (D)-(I1L)
(3) (A0, (B)-(D, (C)-(IV), (D)-(I1L)
(4)  (A)-ID), (B)-(D), (C)-(I1D), (D)-(IV)

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=43729]
2[Option ID=43730]
3[Option ID=43731]
4[Option ID=43732]




Sl. No.84
QBID:1049059

Which of the following influence the speed of nerve impulse?

(1) Myelin Sheath (2) Cell body
(3) Axon (4) Dendrite

(1) 1
(2) 2
(3) 3
(4) 4

frfafias 4 @ = df= s $i off = vnfae = 27
(1) = qvaresg (2) =itern fis
(Y (4) it

(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=43733]
2[Option ID=43734]

3[Option ID=43735]
4[Option ID=43736]

Sl. No.85
QBID:1049060

Arrange the following levels of moral development in right order as suggested by Kohlberg

(A) Universal ethical principles

(B) Heteronomous morality

(C) Social system and conscience

(D)  Individualism, instrumental purpose and exchange

(E) Social contract or utility and individual rights

Choose the correct answer from the options given below:

(1) (E), (C), (B), (D), (A)
(2) (A, (C), (B), (D), (E)
(3)  (B), (D), (C), (A), (E)
4 (B), D), (C), (E), (A)

1)1
(2) 2
3) 3
(4) 4




(A)  (FF=Ea v fofbeen) sEdifes Sfas Ege
(B)  Towm Sfaeran

(C) T =351 U9 950

(D)  =afFamE, 9199 TEeE UE e

(E)  wmTiee S99 SY9E1 ST U AR AT

=t fou T fehedi 1 & T I F = A
(1) (E), (0), (B), (D), (A)

(2)  (A), (C), (B), (D), (E)

(3)  (B). (D), (C), (A), (E)

(4)  (B), (D), (C), (E), (A)
1) 1
(2) 2

(3) 3
(4) 4

1[Option ID=43737]
2[Option ID=43738]
3[Option ID=43739]
4[Option ID=43740]

Sl. No.86
QBID:1049061

Which of the following is NOT an instrument to evaluate newborn's physical well-being?

(1) Apgar scale
(2) Brazelton Neonatal Behavioral Assesament scale
(3) Neuroscientific assessment of the full term newhorn infant
(4) Neurological Examination of the full term newborn infant
(1) 1
(2) 2
3) 3
4) 4
ST forg 3 s e 9 e ) 7 Pt 8 W i b

(1) ST AT

(2)  SiFEIed &I AT SAGER oA "I
(3) ot Aty & Fawra vy w1 Al St geaea
(4) ot srafy % Jaa e Smafas ol




(4) 4

1[Option ID=43741]
2[Option ID=43742]
3[Option ID=43743]
4[Option ID=43744]

Sl. No.87
QBID:1049062

Which of the following is a substage of preconventional level of moral development as
described by Kohlberg?

(1) Social contract
(2) Heteronomous morality
(3) Mutual Interpersonal expectations and interpersonal conformity

{4) Universal Ethical principles

(1) 1
(2) 2
(3) 3
(4) 4

ffafian & & FF-8 37— Fiweer go Fitia Afew fem & 9 TR s E7

(1) =t ey (2) T Heeran
(3)  UTEdfh YT U HEdfE ARl (4) wEsifEE Afaw fgm

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=43745]
2[Option ID=43746]

3[Option ID=43747]
4[Option ID=43748]

Sl. No.88
QBID:1049063

Who proposed the first scientific theory of colour vision?

(A) David Huhbel

(B) Hermann Von Helmholtz
() Sir Thomas Young

(I Ewald Hering

Choose the correct answer from the options given below :

(1) (B) only
(2) (C) only
(3) (C) and (D) only
(4) (A) and (B) only

1) 1
(2) 2
3) 3
(4) 4




Fuigfe &1 wem Tt fagra e wfamfza fem an?

(a) shsga
(B) & 3 #mEees
(C) O amE I
(D)  Eies gf
A fgu mu feemi B 1 HEll I #Ffem
() #== (B)
(2) = ()
(3) %= (C) 3 (D)
(4) a4 (A) 3 (B)
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=43749]
2[Option ID=43750]
3[Option ID=43751]
4[Option ID=43752]

Sl. No.89

QBID:1049064

Given below are two statements :

Statement [ : In top-down processing, perception consists of the progression of

recognizing and processing information from individual components of a
stimuli and moving to the perception of the whole

Statement [T : In bottom-up processing, perception is guided by higher-level

knowledge, experience, expectations and motivations

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1)
(2)
(3)
(4)

1)1
(2) 2
(3) 3
(4) 4

Both Statement I and Statement IT are true
Both Statement I and Statement IT are false
Statement I is true but Statement I is false

Statement I is false but Statement 1T is true




=1 <1 YA feu o 2

Fo 1. Sgrmdl weEm °, R SETE F SO -FAe ged H A H TeaE- S HEnEd F H6n
HqT o gerefiEn fi AR T wine 2

w7 [I: 3= U § Teaafieon 1 AFieee S -E0d 9, 9, S Ud AN ga g 2l
YL FYA o AT O, St= (20 70 fGeel § 8§ #8131 =994 i

(1) = I& IIeH acd 2

(2) = 1w I M1 srEeT 2

(3) = 1@ea 2, <ifrd o 1 159 2
(4)  wy9 I s@es g, w59 [L&cg 2

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=43753]
2[Option ID=43754]

3[Option ID=43755]
4[Option ID=43756]

SlI. No.90
QBID:1049065

What is the sequence of the structure of human ear?

(A) Owval window
(B)  Anvil

(C) Temporal bone
(In Hammer

(E) Stirrup

Choose the correct answer from the options given below:

(1)  (E), (D), (A). (B), (C)
) (D), (A), (B), (E), (C)
(3) (A, (C), (B). (E), (D)
) (O), (D), (B). (E), (A)

1)1
(2) 2
3) 3
(4) 4




Ha FU1 i HEA F HH G R 7

(A)  TEER ZR (Dual Window)
(B) =i (Anvil)

(C) g =% (Temporal lobe)
(D) & (Hammer)

(E) T (Stirrup)

Hi= fou v feeredi ® & @81 39 @0 994 it
(1) (E). (D), (A), (B). (C)
(2) (D). (A), (B), (E), (C)
(3) (A), (C), (B). (E), (D)
(4) (C). (D), (B). (E). (4)

(1) 1
(2) 2
3) 3
4) 4
1[Option ID=43757]
2[Option ID=43758]

3[Option ID=43759]
4[Option ID=43760]

Sl. No.91
QBID:1049066

Given below are two statements :

Statement [ :  Preoperational thinking 1s the inflexible, illogical., fragmented and
perceptually based thinking found typically in preschoolers

Statement I1 :  Conservation is the understanding that rearranging materials does not
alter quantity

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement | and Statement Il are true
(2) Both Statement | and Statement 11 are false

(3) Statement [ is true but Statement II 1s false
(4) Statement [ is false but Statement II is true
(1) 1
(2) 2
(3) 3

(4) 4




= 21wy faw o 2

Foa ;. d iAo (S 5g, Sqlhe, Wisd U UeIEdl W SAEiE S gan g | F g
=1 | T S 2

Foa Il: T8 | 78 TAF 991 3 f At =1 edafead # ¥ 9 8 9iEy 981 a2 2l
ST FY9 F A O, 9 50 70 fTEEed 4 8 98 3 & 999 e

(1) wFEIsdAr I a4 2

(2) I 3 I 2F1 =380 2

(3) w9 1 97 2, ot w94 11 &350 2
(4)  w I oEca 2, afe wus [[oeg 2

(1)
(2)
3
(4)

A W N =

1[Option ID=43761]
2[Option ID=43762]
3[Option ID=43763]
4[Option ID=43764]

Sl. No.92
QBID:1049067

A psvchologist wants to determine whether listening to music while studying affects test
performance. What treatment is the experimental and the control group likely to receive in
this experiment?

(1) Both the groups will listen to music while studving

(2) The experimental group will listen to music while studying, but the control group will
not

(3) The control group will listen to music while studying. but the experimental group will
not

(4) Both the group will be presented with the music but the control group will be asked
not to listen to it

(1)
(2)
(3)
(4)

A W N =




s e e e e e & o S g @ e % S S e % 7 e e
qu‘i\! J’E \_J:ﬁ_{ ﬁ_':rhﬁ E-q.? F'hll "-i:|r| HT 39491 ﬁ:q—[ JIILJ“*“?

(1) =1 FHE &1 Eid g1 gFm

(3) (AT T8 &1 Fd G110 (e TETE T8 1 T8 G S|

(1) 1
(2) 2
3) 3
4) 4
1[Option ID=43765]
2[Option ID=43766]

3[Option ID=43767]
4[Option ID=43768]

Sl. No.93
QBID:1049068

Match List I with List 1T :

List I List IT
School Concept
(A) Structuralism (Iy Introspection
(B) Functionalism (II) Pragnaz
() Gestalt (IIT) Overt Behaviour
(D} Behaviourism (IV) Stream of consciousness

Choose the correct answer from the options given helow :

(1) (A)-(D), (B)-(IV), (C)-(I1), (D)-(I11)
(2) (A)-(I1D), (B)-(1D), (C)-(IV), (D)-(T)
(3) (A)-(D), (B)-(ILI), (C)-(IV), (D)-(1T)
(4) (A)-(I1D), (B)-(I}, (C)-(11), (D)-(IV)

(1) 1
(2) 2
(3) 3
(4) 4




T=-1 % =1 g=-11 =1 e i .

T=1-1 Tt-11
(A) F=AER @ o Fem
(B) THEaRE 1) Tars
(C) =Tz (III) e =T98R
(D) =F=erEmn (IV) =e=1 =t 91

= fZu U faeed § ¥ 9E 39 1 =999 Hifen

(1) (A)-(I). (B)-(IV), (C)~(II), (D)~(I1I)
(2) (A)-(1LI), (B)-(II). (C)-(IV), (D)-(I)
(3) (A)-(I). (B)-(III), (C)-(IV), (D)-(II)
(4)  (A)(IID), (B)-(I), (C)~(ID), (D)~(IV)
(1)
(2)
(3)
(4)

A W N =

1[Option ID=43769]
2[Option ID=43770]
3[Option ID=43771]
4[Option ID=43772]

Sl. No.94
QBID:1049069

According to Freud, which part of the personality includes the perception of an individual
about the kind of person he/she aims to become

(1) Id (2) Ego
(3) Ego ideal (4) Conscience

(1)
(2)
(3)
(4)

A W N =

WS % AIEN, AR & FE 9E § R =E 98 9Rn Wiea gl @ 98 69 we # SAnE a9
TEa 27

(1) 3= (2) ==
(3) 312 g (4) & F=m
(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=43773]
2[Option ID=43774]




3[Option ID=43775]
4[Option ID=43776]

Sl. No.95
QBID:1049070

Given below are two statements :

Statement [ :  Reliability refers to the consistency of the scores.

Statement [I . When a test 1s reliable it has to be valid.
In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement II are true

(2) Both Statement I and Statement II are false
(3) Statement I 1s true but Statement II 1s false
(4) Statement I 1s false but Statement II 1s true
(1) 1
(2) 2
(3) 3
(4) 4
9 3t wom e o E

w1 . Toveediam = o G o st & ol oR | game B
FoA I11:  9fe yo3 favaodia &, 91 39 39 2= =fzw)

I HUA 5 Aol §, 49 5 T T § ° |98 39 o 99w Fif

(1) g9 [ =k 11 gHi g9 7
(2) FEIARII A 953 &
(3)  FuF 15 8, oA F9A 11 3599 2

(4)  wg9 | 9H 2, oA #wg= [[oea 2

(1)
(2)
(3)
(4)

A W N =

1[Option ID=43777]
2[Option ID=43778]
3[Option ID=43779]
4[Option ID=43780]

Sl. No.96
QBID:1049071




Match List I with List IT :

List I
(Types of scale)
(4) Nominal scale
(B) Ordinal scale

(C) Interval scale

(D) Ratio scale

@)
y
(I1I)

(Iv)

List IT
(Property)
Presumed to have absolute zero
Presumed to have reference zero

Difference in successive units of measurement is
presumably unequal

Can be used to identify persons/object

Choose the correct answer from the options given below :

(1)  (A)-AV), (B)-(D), (C)-(III), (D)-(1D)
(2 (A)-aID, B)-(ID), (C)-(I), (D)-(IV)
(3)  (A)-AV), (B)-(ID), (C)-(D), (D)-(D)
(4)  (A)-ID), (B)-(IV), (C)-(D), (D)-(I1T)

(1) 1
(2) 2
3) 3
(4) 4
F=t-1% =19 g=-11 =1 Toem i
EEin| -1
AT F TFE o7/ fersrard
(A) g g O o4 e = 2 2l

(B) FaE= oral
(C) &HAdure gt
(D) @ AT

(II) == ==Y 7= = 2|
(III) == =t 31% i =9 8 FE9E 21 2

(IV) =it /75q =1 Tg=+ & fae w=e e s 2|

F= feu mu foeredt O | Bt 3 w1 ==a Fifew

(L) (A)-IV), (B)-D), (C)-ID), (D)-1I)
(2)  @-OD), (B)-ID), (O)-1), D)-(IV)
(3)  (A-AV). (B)-UD, (C)-11), (D)-(I)
4 (A)-ID, (B)-AV), (O)-(I). (D)-(11I)

1)1
(2) 2
(3) 3
4) 4
1[Option ID=43781]
2[Option ID=43782]

3[Option ID=43783]
4[Option ID=43784]

Sl. No.97




QBID:1049072

The quality of a self actualized person is

(A) Creativity
(B) Insecured

(C) Autonomous

(D)  Unprejudiced

Choose the correct answer from the options given below :

(1)  (A)only

(2) (A) and (B) only

(3)  (A). (B) and (D) only
(4) (A), (C) and (D) only

(1) 1

(2) 2

(3) 3

4) 4

T FH-fag AF F MR -
(A) g

(B)  smdaa

(C) =

(D) e e

= fou o fommedi | @ wE I % 999 Hifaw .
(1) ==a(A)

(2)  Fa (A) 3 (B)
(3)  ad (A), (B) 3T (D)
(1)  F=FA(A), (C) 3R (D)

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=43785]
2[Option ID=43786]

3[Option ID=43787]
4[Option ID=43788]

Sl. No.98
QBID:1049073




Given below are two statements : One is labelled as Assertion A and the other is labelled as
Reason R.
Assertion (A):  Insight can be attained through trial and error learning alone.

Reason (R) : Insight learning involves the understanding of relationships.
In the light of the above statements, choose the corrects answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

{ Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3 (A) is true but (R) is false

(4 (A) is false but (R) is true

b

g g

(1)
(2)
(3)
(4)

A W N =

= 71 #em fau mu # ;v afieeA (Assertion (A)) % ®9 # fofiga & @1 250 39% FROT (Reason (R))
%Wﬁ:

FfimRga (A) : HAGE Had Wae (¢ AT & WH $ 71 awdt 2|

FIT (R) : HagfE wfam § Tl i 997§ FEEHa el 2l

ITIE FIH F A H, A= 50 70 HEeT # 3 "8 I W =9 i

(1) (A) 3R (R) 2Fi @ & &t (R), (A) it =i =amen 2
(2)  (A) ¥R (R) 3 7 &, 9 (R), (A) Fi =t =wen 7@ 2
(3) (A @ g, o (R) s @
(4)  (A) 3\ T 8, @A (R) 54 8
(1)
(2)

(3)
(4)

A W N =

1[Option ID=43789]
2[Option ID=43790]
3[Option ID=43791]
4[Option ID=43792]

Sl. No.99
QBID:1049074

Which of the following scores are not a part of the “Determinants” category of scores in
Rorschach test?

(1) Form (2) Movement
(3) Whole (4) Colour
(1)
(2)
(3)
(4)

A W N =




-

TR ) A guft % Feataigd 5§ Fi9 5 SR U9 90e0 ° T8 2 7
(1) =Y (2) g

(3 @) @

(1)
(2)
(3)
(4)

A W N =

1[Option ID=43793]
2[Option ID=43794]
3[Option ID=43795]
4[Option ID=43796]

Sl. No.100
QBID:1049075

Given below are two statements :

Statement [ :  Antidepressant drugs work by decreasing the activity of the
neurotransmitters nor-epinephrine and serotonin.

Statement 1 . Decreasing the activity of neurotransmitters GABA decreases
generalized anxiety responses.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement [ 1s true but Statement II 1s false
(4) Statement I is false but Statement II 1s true
(1) 1
(2) 2
(3) 3
(4) 4
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